02/05/05

ol oboobtoobotoobotoobtuobuoobogd



Joggg

gboboboboboobobooboboobobooobobobbobobobobo
gbooboobooboooboobooboobooobobobobobobboboobOon
gbooboobooboooboobooboobooobobobobobobboboobOon
goboobgooboobooboobooboboboboobobobooboobobobooboOooon
gboobgoooboobooooooboobuoboooboobobooboooooon

gbobobobobobobobobobobobobobobobonobooo
gbobobobobooboboboboooobooboboooooooooooooon
goboobobobobooobooboobooboooboboboobobbooboobOon
gbooboboooobobobooooooon

Joggg

gooomooobobooobmooboobooobobooboobooboboobo
gbobogbuogbboboboobobooboobboobboobbobobobobaaon
ugbboodbooobuodgbboobuoobobooobuoobbooboobobobbo
gobooobobobobooobooboooboobooobobobobobobbooboobOon
gooooooon

Joodogd

goog uboboooobbooobbooobooobbooobooaboo

uboood bOooobbooobobooobbooobooobo
goboboobobuoooooodan

ubooodg bOoOodao

oon gbobgoboooobooboboooobooboboobooo

oon gbobgooooooogo



® [0

g
ubbodbooboboobobobobuoobuooiobbooobboboboooaoo

ubbogobbooobbooobooobbooobooobboon
ubboooobbooobbooobbooobbooobooobbooobooobn

gooobobd

ubooboogobooan

dooooooooobboooooobobobobbobobbioooooooooOooooo
uggobobbooodgboboooooboboooobboboooooboobobooooboo
ubbodbobooobobboobboobiboobbooboobboobobaobbo
uboboooobboaoooo

ubboooggbooobbooobooobboan

e U

D00000000000 ADODD0OwODOOO
0000000000000 D0000D00000On
000000000000 00000001/0w 0
O001/0wO0O000D000000D000wOOO
O0O0Ov OoO0O

Flw)=Y=—1
vV 1+iw RC
O0D000D00(w)0000000000D00000
000000000000 D0O000000000On
D0O0OoO0OO000O0n

gog
oboQUbO0ob0OprFO RCOODDODODODOQOODODMDOODODODODO
ubooobuoobboobbooooobooboboobboobuoobboobooobog X
ubooboooobogyduobbooobbodobuoooooboobooboobooboo
uboboooooooboog
gboboooobbooobbooobooobbooooooobboon



goooood
O@)00O00000oooo

1

V1+ w?RIC?
goog

RCOOODODOOOUOOOUOOOOODOOOUOOOOOOOxOoOPe@m)O
O00Ox 00" 000000000000000000000000000WMO0O00oo
gbobooboboboorCO0bOgoOoooboOobOobDOobObOobOobLOobOOon
gogbobobooooboooooooboboooooboobooboooobbooooooobooo
uboboooobboobboooobbooboboooobboobobooobboon

Fl=

uboboobuoobboobooooboooboo
gobobooooboboooobbooooobob

ooo
o e
R+}i/a)c

00000000000000000000000
00000000000000000000000
0000000 agle ;09 ,000000000
Argde 0 ,000000000000000
0,00,0000

gog

% -@g=2m (- 1)
goog
ugbooboboooooobooobbodgoboobobo
ubboobibbilewbO0o0booooooooan
ugobobobooooboboooonoboboooobboboooobbbiddlewnO O
goooo0ooOooooobooOo0obooooO0bOOboobboooooobOOm 20000
gbobogoooboboboooobobobooboboe obobomoooon




e[| DU

uboboooobboobboooobboonoooo
bbbl lwdobooooon

_W_ iwRC
v 1+iwRC
0ooo

gog
oboQUbO0ob0OprFO RCOODDODODODOQOODODMDOODODODODO
ubooobuoobboobbooooobooboboobboobuoobboobooobog X
uboobooooboogyuobbooobbodobuoooooboobooboobooboo
uboboooooooboog
gboboooobbooobbooobooobbooooooobboon

goooood
O@)0O0O0000oo0oooo

w RC
J1+ w?R?C?
D000ORCOODOOOOOODOOOODOOOONOOOOOOOOOODODOODOOO
OD00x00°8@)0000x00P00000000000000000000000
D000MOoooooo
D00000@MO000000000DFO0DDDDODONONMOO00O0O0O0ooooon
D0000000D0O0OFOODOOOOO

ggbooobooboboobboooboboboboooboobooboobooooo
uggoboboboooobobooooooboboooobooooooboobooooobooo

Fl=

gooooooo

gbobooobboooboobooobbooboooon
gbboobooobbooboobboooboanboo
ubobooooboog

. R
F=———— 000
F2+}ﬁvc

gbobooobboooboobbooooanoooon




gbbodboooboobboobodobbooboobbo agde jUe pU00O00O0
goog
goog

% -@g=2m f(t; -1)

goog
goboboboobooooooboboooobbboooobbbiodibliwddoooooo

ooooobOo0opoOoO0obOoOooboDOoO0obOOoOoOoOoOoLOOoOooOoooOUOoOm/200000

Uil lDwboooboobooooobobooooboboooooboobooooobooo

gbooboboobobbobobobobobobOobOobOobUobOobeObOoomo

uaoo

e LCRUINN

uboboooobboobboooobboonoooo
oo bibilwdobooooon

I

1

O000OLOORC'OOODOO FlwOO W =

LC
gboboboboboobobobobobobobobobobL0 cooooooo

gbooovioigoooooodoboooobuoobboobooobooboLt RUOOOR
gchoboboonboooon

oo

L<<R"CO000000 LCUOOOUOOUOmMHO1kQODO.0lpy FOOODOOODOOOOO
gboooboooboboobooboooboobooboboboobobobooboobon
gboobmobgooooon



goooood
gboobogooooon

\F\zvv\l:w RC

Tt

gboobobooooooboboooooboobonbo

gbobgobobobobobooboboboog rgbO
gbooobooooboobobooobooooboonbo
gboooboooobooboQuobooooboonbo
gopoobobobooooooboobobooD FODOODO
gog

F ()

_w r+iw L
V. R-w?RCL+r +i(wRrC +al)

Ub0o0bDFrFODOODO

w?L? +r2
(R-w?RCL +r +(wRCL + L)’
Odo00oooooooooooooooooooooogao
0000000000000 0000000 LOOOOOO0O0O0000oo0oood
JiLCcODO0OO0DoOooD LODOO0ODOO0OOooDOo0o0oD RCOODODDODOODODOO F(w)
O 10wd0000000000000 00000000 00COO0000000o00a

gboobobooborcobooooooo coobobobboopooob LrRODOD
D0Fw)lwdODOOOOoooooooo

Fl=

e U UIUUODOD

ooooooboooogo o)y oooooobooobooobooooboooooo
uboobooooboooan

V= J’_°°m dt v(t)exp[~iwt] W(w)= I‘” " dtv(t) exd - iwf]
oo00oo0ooooooooooooooooon

wiw)=_Y @)

1+iwT

ugoboboboooobobodr gobbooooboooooobooboooobooo



uboobooooboooan

w(t)= 1 da W (w)expliwt]

211~
_ 1 - exp[iwt]
B ZHI—w da)W(a)) 1+iwTt
== dt" dow .,\exp[la)( ~t')
I 1+iwT

ubbooooooogooorsogboogugbooobobooboodr ogonoobooaoo
ooooooooooooooOoobOoOobboooooOoDboo@EWo Oty obooo
ubobooooboog
OO0oOoO0DOo0bO0o0oCo0oOo0boo0bOo000d(w)h(w) b DwooDO O
goiodbobooobbodbbidlwboobboooboooobboonoooo

w(t)= s d'v(t-t) ft) - (5)
00o0oooooooooooboooobddmobooooooooooooooooo
0ol 0000000000000 ooooooooonooooon
0l m@oooooooooooon
vO)os 00O Moobobodd,00dboboooooooobooooooa

t—t
W(t)D explj_( 0) D ..... (6)
B =
gobodoobodr gboooooooooooo
o@yoood,oodbob ,0b0bo0obobooooboooooooa

vv(t)l]l—expg (t _to)r E ..... (7)

goog

gog

goboobobooboboobobooboboobooobbobobbobobobobo
ubboooobbooboobboobuooboboobooboboooooboboaoo
uboboooobooobobooboboon



ooooooo
000000000 000000000000000000000000000000
D000000000000000000000000000000000O.I0T 00
0000000000 000000000000000000000000000000
OD0@@O000T)I0000NN0N0N0N0NDNnnon
O000000000000000T 000000000000000

w=a (1-expB)

OD000aO0000000000000T OROOODODO

exp,le—V—V
a

0000 - 000000D0OOO0DOO0ODO ~eeO0OO00,000000000B0OOOO
goooan

0:1—1'_91
a

a=191
a 000000

w
expf=1-——
PB 191

gboooooobobobooboobom™moboonog
ugobobobooooboboooooobobooobobooooooboobooooobooo
ubobooooooan

ugboboooobboobboooobboobooooobboan

logy =log,,a exp(‘%)

t
:|091oa+(|091oe)x(_?)
oo bt oo b oo oo ogogogoo

logl-10g10=(log,, €) % (—E) oooo00oo
T

_ -6
-1= (|091o e) xﬂ

r =(log,,e)x23%x107°
=9.98x107°
0000000000 D0Ox0OO0RP00ooobonoo



gooooooOobobooooobDOoboOoOoOooOoDOobD@@EUubDogT)yboboo
gboobooooboooaoo

e[ UUDbDOO

gooooobooonoooonooooobooooooooooooooa
gooooooooooooooooooooooon

{ dolt

C dt
doooooooouooooodbo@ooobodo@yooy,boooboDbOoOon

Q=Cyv, EL expg

ubobooobooobboobboooobbooobboan

o)=R0)= Ry, e L

gog

gbobobobobobobobobobob ebDOobOobDObObObDObDODO
dooodooodor bbbbooooboobobobboborobootdr ogudoooaaog
goooan

goooobd
guobobobooooooooboooobbobooooboobooooboobooooobooo
gbobobobobmuobooboobooboobbobobOoobboboodboroboon
ooofd0obooooo0ooobo0ooboooooooooDoobOoO@@o
ooolft)oboooooooeObOUObOOODOOD
ubogbogoboooboobooboobooboobooobooaoobogdo

logy =(log,, €) % (—E) oooooo
T



_ -6
-1= (|ogloe) xﬂ

T =(log,,€)x24x10°°
=1.04x107°

O0000o0ooooOO0xDOOotfooooooooon

0o0oOodooOoOboOoo0b0ooo0oOooobOo0oooooO@@E@uoodT )y ooo
oo moooo

goodoooooooooooooooooooon
T 000000 oooooooooooooooooooobooooor gooo
0o0odooooooooooboboodooooooooooooooooooog oo
gooooooodooouooooooooboooooooooooooonoobooon
gooooooouooooonooooooooooooooooonooooooooono
gooooooodooouooooooooboooooooooooooonoobooon
goodooooooooooooooo

e U UIUUODODO

000000000000000(@)00@)0000000000000000000
0000OcD OO DO00DOnOonooog

dj . .
w(t)= L= = i)t =vit)- Rlic )+ 1. 0]
DDDDDDDD(D)DD(D) Oc)OO () DDOODOOOOO@IO(@) Oa(@m)oaL@)
do0oOodoooooboo0boboobo0oobOooooOOoooooJw )y oooooa

W(s)=Ls3,(9)= =) =v(9)- R, (9)+ 3.6)

0000000000000000@)LO0)0000WEOO000000a

W(s)= / F(s)V(s)--(9)
S+ Spet %_C
000000 FEOO0000000000000 Fw)l0000000w-00000
000000000000000000000000000000000000
0000 w@)DO00O00000W(EO0000000000000000000000
D000D0000000000000000000000000000000000
RCLOODOOROIOOCOOLOO0O000000000000000000000
N000000000000000000000000000



000000000000 (@)0000,00000000000000000000000
O0.00000000(9)0

e e
S+ Spct Y (s+af+p?

O0000o000ooo000@puooi1ooo®oyPiooooooooo
0100000001000 0" 00000000000

W(t)=F\:/—C°:exp[— at]sin(bt) ---(10)

b

gboooiboaboooobooanbon

gog
ubobooobbooobbooobobooobboooboooobboooobooo

goooobd
ubobooobuooboooboooboobooobooobbooboooboon
ooooooooooooooboo@oboy)yooobooooooobooobooooooo
ggobobbooooboboooooobooooboboooooboobooooobooo
ggobobbooooboboooooobooooboboooooboobooooobooo

Dooooooooooooooooooooooon logy=(logy,e) x(—aAt) o
ooooo

-6
log10 - 10g100 = (log,, €) (—%)

-6
1-2=log &) 05

a=(log,,€)x50x107°
=217x10°

O00oooooooo0oooxoofo0ooooooo
ocooooooOoooooo0ooooobOo0OobDOoobDOog@EWooO)ybbogoobooo
gbooogoooomooon



